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QUESTION 1

Which of the following copper cable types should be chosen to run gigabit speeds through a dropped ceiling that returns
airfow? 

A. Non-Plenum CAT5 

B. Non-Plenum CAT5e 

C. Plenum CAT5 D. Plenum CAT5e 

Correct Answer: D 

 

QUESTION 2

Which of the following protocols can be implemented to provide encrypton during transmission between email
gateways? 

A. TLS 

B. PPTP 

C. SSH 

D. HTTPS 

Correct Answer: A 

 

QUESTION 3

The APIPA address 169.254.10.123 falls into which of the following class of addresses? 

A. A 

B. B 

C. C 

D. D 

Correct Answer: B 

 

QUESTION 4

Lisaf a network consultantf is asked to set up a wireless network in a home. The home user wants the wireless network
to be available in every corner of the house. Which of the following additonal informaton will Lisa need to determine the
equipment for the installaton? (Select TWO). 

A. The length of the house 
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B. How many rooms are in the house 

C. How many users will be using the wireless network 

D. The building material of the house 

E. The cost of the house 

Correct Answer: AD 

 

QUESTION 5

STP prevents which of the following problems? 

A. Collision domains 

B. Switching loops 

C. Broadcast storms 

D. Routng loops 

Correct Answer: B 
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